
225 de Liège Ouest, Suite #200
Montréal (QC), Canada   H2P 1H4
Tel : 514.385.3515   Fax : 514.385.4169
www.eurekalighting.com

INSTALLATION 
MAINTENANCE 

Steplight
Encastré mural

10096
Ray

1 - LOOSEN THE M3 SET SCREW [A] LOCATED AT THE BOTTOM OF STEPLIGHT [B]
       AS SHOWN USING THE SUPPLIED ALLEN KEY [C] TO FACILITATE INSTALLATION.

2 - INSTALLATION ON 2” X 3” SWITCH BOX
       INSTALL THE 2” X 3” SWITCH BOX (SUPPLIED BY OTHERS) VERTICALLY. INSTALL
       THE GASKET [D] AND THE MOUNTING PLATE [E] OVER THE SWITCH BOX USING
       2-WAY #6-32 MOUNTING SCREWS [F]. MAKE ALL WIRING CONNECTION.

3 - FASTEN GENTLY THE 2-WAY #6-32 MOUNTING SCREWS [F] TO THE SWITCH BOX.
       AVOID OVER TIGHTENING THE SCREWS TO PREVENT GAP BETWEEN GASKET AND
       THE 2” X 3” SWITCH BOX.

4 - POSITION STEPLIGHT [B] ON THE MOUNTING PLATE [E] & GASKET [D] USING
       THE FLANGE/TAB LOCATED INSIDE THE STRUCTURE OF STEPLIGHT [B] AS SHOWN.

5 - SLIDE STEPLIGHT [B] OVER THE MOUNTING PLATE [E].
       GENTLY PRESS THE STRUCTURE AGAINST WALL SURFACE.

6 - HOLD THE STEPLIGHT [B] INTO PLACE WHILE TIGHTEN THE STRUCTURE WITH
       THE BOTTOM M3 SET SCREW [A]. USE THE PROVIDED ALLEN KEY TO EXECUTE
       THIS OPERATION.

INSTALLATION

MAINTENANCE MAINTENANCE

INSTALLATION

7 - FOR LED REPLACEMENT BULB: PLEASE CONTACT YOUR EUREKA AGENT. 7 - POUR LES INFORMATIONS RELIÉES AU REMPLACEMENT DES DEL: VEUILLEZ
       CONTACTER VOTRE AGENT EUREKA.

V1
.1

-2
01

70
3

1 - DÉVISSER LA VIS DE PRESSION À SIX PANS CREUX M3 [A] LOCALISÉS SUR L’ENCASTRÉ
       MURAL [B] À L’AIDE DE LA CLEF SIX PANS (ALLEN) [C] FOURNIE POUR FACILITER
       L’INSTALLATION. 

2 - INSTALLATION DE LA BOÎTE DE CONNEXION 2” X 3”
        INSTALLER LA BOÎTE DE CONNEXION 2” X 3” (NON-INCLUSE) VERTICALEMENT. 
        POSER LE JOINT D’ÉTANCHÉITÉ [D] ET LA PLAQUE DE MONTAGE [E] AU MUR À
        L’AIDE DES (2) VIS DE MONTAGE #6-32 FOURNIES [F]. FAIRE LA CONNEXION DES FILS. 

3 - VISSER SANS FORCER LES (2) VIS DE MONTAGE #6-32 [F] À LA BOÎTE DE CONNEXION.
       PRENDRE GARDE DE NE PAS TROP SERRER LES VIS AFIN D’ÉVITER TOUT EPACEMENT
       CRÉE ENTRE LE JOINT D’ÉTANCHÉITÉ ET LA BOÎTE DE CONNEXION 2” X 3”.

4 - POSITIONNER L’ENCASTRÉ MURAL [B] EN UTILISANT LA LANGUETTE PLIÉE DE
       LA STRUCTURE POUR L’ACCROCHER SUR LA PLAQUE DE MONTAGE [E].

5 - DÉPOSER L’ENCASTRÉ MURAL [B] SUR LA PLAQUE DE MONTAGE [E] EN L’APPUYANT
       FERMEMENT CONTRE LA SURFACE DU MUR. 

6 - TENIR L’ENCASTRÉ MURAL [B] EN PLACE ET SERRER L’ENSEMBLE DE LA STRUCTURE
        À L’AIDE DE LA VIS DE PRESSION À SIX PANS CREUX M3 [A]. UTILISER LA CLEF SIX
        PANS (ALLEN) [C] FOURNIE POUR EXÉCUTER CETTE OPÉRATION.

A

F
B

B

C

2

1

4 5 6

3

E

E

F

D

D

E

B

D

B

A

C

Suggested for wet location
installation / 

Suggéré pour l’installation
au emplacement humide

*FOR WET LOCATION INSTALLATION, IT IS SUGGESTED TO APPLY SILICONE
CAULKING AROUND GASKET [D]* *POUR L’INSTALLATION AU EMPLACEMENT HUMIDE, C’EST SUGGÉRÉ DE METTRE

DE LA SILICONE AUTOUR DU JOINT D’ÉTANCHÉITÉ [D]*


